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DIN  ug-ai/l 38.2 | 27.5 37.1155.7156.9]73.6|72.2 44.2
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HERX HEHE | ik | RAEBENR | RAEE | BEEK s K&
H# /M H kg / H kg/H g /B
FHEX 5A | 4~28 3~5 23~670 4.8~53.8 6~25 0.3~1.9 43~91
o] 15 5 285 27.9 16 1.3 71
X 5 A | 16~30 5~9 233~2,106 | 14.6~104.7 | 11~70 0.7~3.5 50~76
SE 22 8 665 42.4 27 1.7 64
THE 4A| 6~29 4~9 76~564 4.2~45.2| 13~51 0.7~1.8 16~89
3y 14 6 400 19.6 3 1.2 51
i 17 6 453 30.1 24 1.4 61
FifX 5A| 7~28 3~9 124~797 9.7~67.6 7~30 0.6~2.6 78~97
i 17 6 373 31.9 21 1.9 87
hix 5 A [ 15~26 6~10 |197~1,023]19.5~76.5| 11~43 1.1~3.2 75~105
i 21 8 455 39.5 20 1.8 92
T 4A| 9~25 3~10 | 100~596 9.5~65.3 8~45 0.8~2.7 33~110
SEHy 14 5 358 26.1 27 1.7 71
FEy 18 6 398 33.2 22 1.8 84
FREX 4 A| 9~31 3~10 39~623 4.6~43.8 4~26 0.4~1.4 89~117
Fiy 19 6 302 18.0 13 0.8 99
FEX 5 A 15~26 4~12 | 157~534 |19.4~54.7 8~36 0.9~3.1 88~123
i 22 7 372 37.4 18 1.8 105
TiX 5A[11~28 2~10 |147~922 [11.0~97.9| 13~34 1.0~3.6 73~106
Ty 20 5 456 42.9 22 1.9 90
3 21 6 382 35.0 18 1.6 98
FHEE 4 AN| 4~10 3~5 22~305 2.5~ 5.5 5~31 0.5~1.1 104~113
iy 7 4 105 4.1 13 0.7 107
FiXE 4 AN | 8~21 2~12 30~401 4.0~46.9 4~19 0.5~2.2 99~133
i 15 7 180 20.7 11 1.3 119
T 5A[11~17 4~6 199~448 |12.6~55.7 | 15~26 1.1~3.8 74~151
iy 14 4 306 32.7 22 2.4 103
SE¥ 12 5 206 21.6 16 1.6 110
6 —9 AF#E | 68 ¥ 6 1,439 120 %20 %2 %88
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EifX 4 ANJ14~31 ] 2~5]1~2[176~815 19.4~61.8 13~32 1.4~3.2 75~110
g 21 3 1 515 43.9 24 2.2 91
K 5N 5~28 | 3~5 | 1 ~3 [119~1,917| 12.3~208 24~128 | 2.5~12.3| 96~120
T3y 15 4 2 1, 149 123.6 66 6.9 106
T 4AN[19~28 | 4~6]1~3 1, 509 143.3~630 56 5.3~22.5 95
iy 25 5 3 1, 509 327.8 56 13.0 95
T3y 19 4 2 930 148.1 48 6.9 99
FHERK SA] 7~15 ] 2~5] 1~2 |305~719 23.7~90.0 44~62 3.4~6.0 68~125
Ty 11 4 2 540 49.6 50 4.5 92
himE SA| 9~19 | 2~7 | 1 ~4 [201~3.284 | 26.1~384.7 17~182 | 1.6~21.4| 79~130
R 25] 15 4 3 1,211 137.8 79 9.0 109
FTiHE 4AN] 6~20 ] 3~8] 2~3[822~2,650] 63.5~505.0 | 48~442 | 3.7~35.0] 77~79
T 14 5 3 1,736 239.6 224 19.8 78
2] 13 4 2 1,019 135.4 95 10.5 97
8 —9 H¥39at 32 X% 4 X 2 1,949 283 %72 % 9 %98
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